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Commands Typed At MATLAB Prompt:
>» clear all; close all;

W
H

linspace(0.01,10,1000};
Frw./ (LO*3*wrd  *w + j*w +10);

figure (1) ;

subplot (2,1,1});
plot (w,abs (H} ) ;
grid; ylabel('[H({j\omega) |'}; title('Magnitude Response') ;

W
H

1]

logspace(-2,3,1000);
Jrw. /{10*J*wr ] *w + Jr*w +10);

subplot(2,1,2);

semilogx{w,20*laogl0{abs{H}}};

grid; ylabel('|H{j\ocmega) |, dR'}; title({'Bode Plokt: Magnitude
Regponse') ;

xlabel {'\omega, {(rad/sec)'}:

=

Plot Generated:
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Commands Typed At MATLAB Prompt:

»» glear all; close all:

i

L
H

linspace{0.1,50,500) ;
SE00. (drwrd o rw o+ JRw2 o+ 100) ;

figure (1} ;

subplot(2,1,1)

plot{w, abs(H))
)

grid; ylabel/
subplet (2,1, 2
plot {w, unwrapi{angle{H) | *180/pi);

grid; xlabel{'‘\omega (rad/sec)'); ylabel{'‘angleH{j\omega) (‘circ}'); title{'Phase Response’};

|H{j\omega) |'}; title{'Magnitude Respcmnse');

w = logspace{-1,3,1000);
H = -200./(j*w*].*w + j*w*2 + 100):

figqure(2};

subplot (2,1,1};

semilogx {w,20*1logld {abs (H} )} :

grid; ylabel{' |H{j\omega)], dB'); title('Bode Plot: Magnitude Response'};

subpleot(2,1,2);

semilogx(w, unwrap (angle (H} ] *180/pi} ;

grid; xlabel{'‘omega [rad/sec)'); vlabel('‘angleH(j\omega] (“weirc)'); title{'Bode Plcot: Phase
Response'};

Plots Generated:
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